3

A 4

2

NOTE: DOUBLE TRACK LOW
HEADROOM, HI-LIFT TRACK,
FOLLOW—THE~ROQF TRACK,
AND VERTICAL LIFT TRACK
ARE AVAILABLE OPTIONS.
3" TRACK ALSO AVAILABLE.

HORIZONTAL TRACK END HANGER BRACKET (SUPPLIED
BY BOOR INSTALLER) CLOSES ROLLER CHANNEL.
INTERMEDIATE HANGER REQUIRED FOR DOORS IF
HORTZONTAL TRACK BEFLECTION EXCEEDS

CAST ALUMINUM

"1/240TH OF THE DOOR HEIGHT

CABLE DRUM
\ A

Zo

HOPENING
HEIGHT

' l
/ ﬁLV STEEL TRACK/

SECTIONS-
HORTZONTAL - 4 GA MIN

LEj GALVANIZED STEEL
T TRACK SECTIONS
VERTICAL - 460 MIN

VERTICAL TRACK TO BE
CONTINUOUS ANGLE OR
REVERSE ANGLE TRACK.
/| TRACK CLIPS ARE 12 GA.

alzu TYPICAL
CTR-CTR

GALV. STEEL.

10"

'1 OR ONE 1/4" BOLT.
S ]

by 100

STANDARD-LIFT ?RACK DETAILS

1* BVERLAP _
EATH SIDEY |

OPTIONAL STOP MOULDING BY

9 GA. MIN. GALV. STEEL STILE (CENTER)

ATTACHMENT
ILLUSTRATICNS
ANJ TRACK

DETARLS.

\ 14 GA. GALYV. STEEL (CENTER) HINGE.
77167 PUSHNUT INSTALLED ON ROLLER SHAFT

14 GA, GALV, STEEL <ENG) HINGE.
2 STEEL LONG STEM ROLLER

?AST{'.NEZD 0 BOOR SKIN WITH TOG-L-LGC SYSTEM.

MAX_ 16"-2" WIDE X 18'-0" HIGH REVISIONS
MODELS AVAILABLE (CLOPAY/ -HOLMES/ IDEAL) REV. NO.| ZONE: | DATE: ECN NO.| APPVD: DESCRIPTION
MODELS 524, 520/ 224/ C4ST, COST 10 B4 07/2004 | ER1058R1 - REVISED END STILES FROM (2) PC TO (1) PC
INSULATED MODELS 524S, 5208, 524V/ 2245/ C4SS, COSS, C4SV 11 - 05/2005 - - UPDATED CODE REF.
12 - 10,/2005 — — ADDED ROLLER OPTION
THiS DOUR MEETS OR EXCEEDS THE DESIGN |
kgé%%orfgg T‘{gEﬂ\:\gNELgéﬁ%%DsELlﬁigTEgogELow 13 — 11/2008 - - ADDED MPC; WELD DETAIL.
OR IBC (ASCEY) FOR THE FOLLOWING 14 — 02,/2012 - — UPDATED WINDCODE CHART
CONDITIONS: 1)’ ENCLOSED BUILDING, 2) DOOR ‘
HAS 2° OF WIDTH IN BUILDING'S END ZONE, 15 — 08/2012 - - REVISED FOR TDI
3) IMPORTANCE FACTOR OF 1.9, ) ROOF SLOPE
SS THAN_107, AND &) 5o Sa CTOR, 16 - 06/2013 - SH REMOVED ACRYLIC/WIRE GLAZING. SPECIFIED FV DIMENSIONS.
WIND SPEED (MPH}| 110 | 120 120 130
EXPOSURELENEL 18 or G| B | € | B THE OPTIONAL GLAZING SHOWN ON THIS DRAWING MEETS THE
MEAN ROOF HEIGHT| 30 300 | 20 ) 30 WIND LOAD REQUIREMENTS OF THE FLORIDA BUILDING CODE
OR INTERNATIONAL, BUILDING CODE BUT DOES NOT MEET THE
IMPACT RESISTANT REGUIREMENT FOR WINDBORNE DEBRIS
NUMBER OF | NUMRER 0OF REGIONS (REF, CHAPTER 16 FBC/IBC)
DUDR WIDTH CENTER | C-CHANNEL ADJUSTABLE TOP ROLLER BRACKET
STILES STRAPS UPTIONAL INSULATION OF 12 GA. GALY. STEEL, INSTALLED
ie'-3% THRU 13'-27 e 4 # # # # (SEE MODEL EXFLANATION GN DOOR WITH <4) #14 X 5/8° LG
13'-3" THRU l&'~2° 3 5 N SHEET METAL SCREWS
2 16 BALL LONG STEM STEEL
e # # # 7 ROLLER WITH STEEL DR NYLON
TIRE
DEOR ‘A ,, P P w
e fseerias | o] 33 e TP e da TP b 5 M | e
Py Oad” MIN. HO . -
L UP T3 g0t 4 OPTIONAL ALUMINUM FULL VISION WINDOW LITE SECTIONS AVALABLE (1/8" DSB). GALVANIZING, ROLL FORMED STEEL. O SEr oy CIEHANNEL FER
8-3" THRU 10'-G S FULL VISION SECTIONS TO HAVE 2” X 2" X 1/4" L—ANGLE HORIZONTAL SELF TAPPING SCREW PER
10°~3* THRU 12'~0* & REINFORCEMENT. L—ANGLES ATTACHED TO THE REINFORCING RIB WITH 4" X & STILE. (SEE VIEW D%
12/=3* THRU 14’—0" 9 ROFFSET PLATES AT EVERY HINGE LOGATION AND THE CENTER OF EACH PANEL
14'-3° THRU 16’0 g WITH (2) 1/4" X 5/8" HEX BOLTS AND NUTS.
i16'-3" THRU 18‘~0" 9
MAX. SECTION HEIGHT: 24" ] \_

CLIPS ARE ATTACHED TO TRACK
WITH EITHER TWO 1/4" RIVETS

#14x5/8" SHEET METAL SCREWS'

ESN

4"x3 /4" SELF

SCREWS.

14 GA, DOUBLE END HINGES 14_GA, INTERMEDIATE MINGE
AITACH ON EACH HINGE AS SHOWN ATTACH ON EACH HINGE AS SHOWN

I,'"j—'

4" x 14 GA. C~CHANNEL, ONE C-CHANNEIL PER-
SECTION, SEE SECTION 1~1 FOR MOUNTING
DETAILS.

/

" 1-1/4*WIDE X 16 GA. GALV.
-STRAP, (3 PER DOOR SECYION.

W

|

"’ 2

3/16" MIN
STEE:. JAMB

) Bl4 X 5/8" LG, SHT. MTL, SCREWS . J
BOOR INSTALLER ¢TQ SULT). | AND (B 174"3re” SECF-TOPPING SEREWE. WIH () 1747 X S/9"SHEEY METAL SCREWS
| 16 GA. BIN, GALYV. OR PAINTED STEEN, DOUBLE END STILE " FILLED
7 FASTENED TG DOGR BKIN WITH YOG-L-LOC SYSTEM,

1/a"xz” LONG
ALLEY WELD (t6

TO BE LOCATED

ELECTRODE MiN.).

QN ANGLE AT 247
CENTER AND TACK

E0XX
WELD
VERTICALLY

MAY BE BACK—
WITH
GONCRETE, BUY

DOUBLE END EACH STRAP ATTACHEBR WITH (33 |
STILES 174 X 3747 SELF TAPPING SCREWS,
. TWO SCREWS Til DUOR, ONE SCREW
TO C-CHANNEL.
W)
Q)

END HINGES [OF MIN

A 14 GA. GALYV, STEEL, FASTENED WITH
(4) #34 ¥ 9/8" LG SHT, MTL, SCREWS
AND (@) 1/4"x3/4" SELF-TAPPING SCREWS.

-~ OPTIONAL 24" x 6" -
POLYPROPYLENE

SCREW TOGETHER

FRAME TYPE DSB

WINGOW LITES,

1“_ 4” I

I-——I

~2—1/2"
. 5/8”

TWO POINT

el |

GALY. REVERSE
WELD TOE OF ANGLE AT * G CONTNUIGUS ANGLE

SECTION 2--2
WOOoD JAMB ON CONCRETE CONCRETE JAMBS
2,000 PSI MIN 2,000 PSI MIN
CONCRETE CONCRETE

3/8" DIA, x 1=1/2"

MIN. EMBED SLEEVE
ANCHOR. WASHER INCL'D.
14" MaX. 0.C.

TO SECURE 2x6 JAMB

S spaae DIRECTLY 76, STEEL dhu
L JAMB.
WELDED

MAX. DOOR WIDTH: 1&'—p*

FIRST (BOTIOM) ANCHOR STARTING AT NO MORE THAN HALF OF

STEEL JAMBS!
SELF—TAPPING SCREWS

JAMB

3/16" M2l STEEL

ANCHOR NOTE:
THE MAXIMUM ON-CENTER CISTANCE. HIGHEST ANCHOR INSTALLED AT LEAST AS
HIGH AS THE DOOR QPENING.

WOOD JAMBS

/811727 MIN. e e OF THE

f TO CONCRETE.
5 | C'SINK IF NEEDED,
/ 3 M. EDGE DiST.

BRACKET MOUNT OR CONTINUGUS
ANGLE MOUNT TRACK FASTENED
TO 26 #2 OR BETTER

YELLOW PINE JAMB WITH

ONE 5/16"x1—-5/8" 16.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION,

1/4"x1-1/2" MIN.
EMBED SELF—TAPPING
CONCRETE ANCHOR.
1" WASHER REQ'D.
12" MAX. 0.C.

TG SECURE ANGLE
TO CONCRETE.

REVERSE OR CONTINUQUS
ANGLE, MOUNT TRACK
FASTENED DIRECTLY

TG CONCRETE.

3" MIN. EDGE DIST.

MAY BE BACK-FILLED
WITH CONCRETE, BUT

NOT REQUIRED FOR
SELF TAPPING SCREW.

1/4"%3/4"
SELF TAPPING
SCREW.

19" MAX. 0.C.
TO SECURE
ANGLE TO
STEEL JAMB.

REVERSE OR CONTINUQUS
ANGLE MOUNT TRACK
FASTENED DIRECTLY

1O STEEL JAMB,

BRACKET MOUNT OR CONTINUQUS
ANGLE MOUNT TRACK FASTENED
TO 2x6 #2 OR BETIER

YELLOW PINE JAMB WTH

ONE 5/16"x15/8" LG.

LAG SCREW PER BRACKET

OR TRACK CLIP LOCATION.

LOCKING REQ'D

SECTION 1

VIEW "D”

4" TALL C—CHANNEL

14 GA, GALV. STEEL

MIN YIELD STRENGTH 50KSI

-/

EOTTOM SECTION REINFORCED WITH
TEMPERED ALUMINUM EXTRUSION WITH
INTEGRAL RETAINER FUR FLEXIBLE

VEINYL ASTRAGAL

BOTTOM ROLLER BRACKET OF 13 GA
MIN. -GALV. STEEL, FASTENED WITH (4)
gi4 X 5/87 LG SHT. MTL. SCREWS

~48 PSF.

MAEST OADS  +48 &
I1EM$§ g Lm‘;Sﬁgng. EE@@S&%NES Sﬁg%}%ﬁ%‘&smu'w MARK WESTERFIELD, P.E. . . /fi’ ;/3
REQ'D. 24" MAX. o ' / NUFA BUCT
0.C. 10 SECURE  |OF THE BUILDING ENGINEER OR |FLORIDA P.E. #48495, NC P.E. #2:@83,3 - W'’ ' ?\?gEC TER,I.NE) 1&‘2{‘\]1 _Cl F? U4D28
2x6 WOOD JAME | ARCHITECT OF RECORD. TEXAS P.E. #91513 Zom e Y ’
STRUCTURE. Unless Stated Olherwise I ’ 8 85 %ﬁ@w&mmm WINDLEAD RATING
C'SINK IF NEEDED. TOLERANCES e E . y o Tél o 51'5i %géugg

CLOPAY CORP.

ALL RIGHTS RESERVED.

S

Third Angle
Prajection

0 = +.031 Bu;lésng ?rﬁduc{sa@n‘“ﬁfmy . Fax No. 51377054853
oo xoio DESCRIPTION:” CONMERLAE KBBED DOGR, +/~ 32 PSF DESIGN LOAD
0000 = £.001 |DRAWN BY:9RIK. ¢, +{DATE; 4/14/99 | SCALE: NOTED |pws.
Degrees = *1/2°  |CHECKED BY: WWW """ ADATE: 4/99 SHEET 1 OF 1 |SZE

Unfess Stated Otherwise
DIMENSIONS ARE IN INCHES.

DWG. NO.. 101885

5

-

2






